Total Noof Pages : 8 - | ’ 4

EE210 ) . R0“ NOB  seesssesiseensecssises
2016
-~ MANAGEMENT
PART-I
et ; Vavier | (st 3 - 30
Time allowed : V2 Hour] [Maximum Marks : 30

~

qz: (i) wiwT afard Evd mem el s e
the‘ : All Questions are compulsory and each question is of 1 mark.
(i) o arweit F s g @t Rafer F sist argar & A & 1

Only English version is valid in case of difference in both the languages.
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The meaning of MRTP

(Monopolies & Restrictive Trade

Practices) is : .

(a) Industrialization of country

(b) Development of new industries

(c) Increase in production and
decrease in price of commodities

(d) Union of trade practices for
restriction & controlling of
price of products

Which one of the following is not an
entrepreneurial support institutions on
central level ? '
(@ ALSIB.
(¢) N.RD.C.

(®) NS.IC.
(d RAICON

Which one of the following district
has an “A” category district industries
centre ?

(4) Banswara
(¢) Udaipur

(b) Bundi
(d) Churu

P.T.O.
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(d) e denie ¥ g

TR A IARE ¥ SN 7% Uhe

H adw &
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- NSICHquamE:

(a) National Small Level Industrial
Corporation

(b) National Small induslnahzanon
Corporate Sector

(¢) National Small Investment
Corporation

(d) National
Corporation

T d T A e i o
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(a IMF. (b) ICICI
() RBIL (d SBIL

Small Industries

RAJCON 1 qq1 Tk
(a) Rajasthan
Organisation for Nationalization

() Rajasthan  Consultancy of

Organisation Ltd.

(¢) Rajasthan Corporation for
Nationalism

() Rajasthan Corporate
Organisation for Nationalization

Consultancy

2047
ISO 9000 is for
(@ Quality assurance model for
establishment
(b) Final inspection
(¢) To reduce the cost
(d) Quality management

The steps of marketing is

(a) Manufacturer — Wholesaler -
Consumer — Retailer '

(b) Manufacturer — Agent — Wholesaler
- Retailer — Consumer

() Manufacturer — Consumer -
Retailer — Wholesaler

(d) Consumer - Manufacturer -
Wholesaler — Retailer

The full form of NSIC

(a) National Small Level Industrial
Corporation

(b) National Small Industnahzanon
Corporate Sector

() National Small Investmeni '
Corporation

(d) National
Corporation

Which one of the following is not a

Small Industnes

. Nationalized Bank ?

(a) Punjab National Bank
(b) Andhra Bank '
(c) Allahabad Bank

(d HD.FC.

Which one of the following is called
Bank of Banks ?

(a) LMF. () ICICI

(c) RB.L. (d SBlI

Full form of RAJCON is

(@) Rajasthan Consultancy Organisation
for Nationalization

(b) Rajasthan  Consultancy of
Organisation Ltd.

(c) Rajasthan Corporation  for
Nationalism

(d) Rajasthan Cotporate Organisation |

for Nationalization
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~(a) .15 H.P.
(c) 25HP.
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(c) RICO
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16,

. 2047
Which one of the following is not a
type of cheque ?
(a) Bearer cheque
(b) Order cheque
(c) Crossed cheque
(d) Draft

Bureau of Indian Standard (BIS)
gives the following sign :

(@ QV () ISO
(c) ISI d QIP.

The source of land for Industrial

Project is :
(a) DI&DIC (b) NSIC
(c) RICO (@ KVIC

Upto what horsepower electric
connection comes under low tension ?
(a) 15H.P. (b) 20H.P.

(¢) 25HP. (d 30HP.

Which one of the followmg is not a
contract ?

(a) Single work contract

(b) Lumpsum contract
(c) Item rates contract
{(d) Two stage contract

How many types of tenders are ;
(a) five (b) four
(c) three (d) two

Which one of the following is not
related with service industry ?

(a) Cycle repairing

{(b) Washerman

(c) Repairing of pumpset

(d) Production of voltage stabilizer

Po,roo-
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23,

0 Wer F vey & et fagia & 0
(@ 15 ®) 14
(© 13 @ 12
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(a) 13 () 12
(c) 11 @ 10

TH FA! ¥ W0 6 SEvaEar 34 B
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(a) T wimaOT

(b) =9 w4

(c) wwt & famre

(d) IO |t

HTATEROT WEAUT SUFEH 8 A €2 2
(@) 1961 (b) 1986
() 1971 (d) 1985

Tt 3w o we @ St F R W
T T ST s

(@) 14 - (b)) 16

(c) 18 @ 21

WW@W%;
@ 650w
(b) 250 A Y W
() 33kva=w

(d 110

T aifufram, 1961 =7 v wrt &
(a) wEferETEE * WG

(b) TR I

(c) reltent wfraror &

(d) sl Tfier T e

@
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18.

19.

20.

21.

22.

23.

(@ 14
(c) 18

2047
How many principles of management -

are given by Henry Fayol ?

(@ 15 (b 14

(c) 13 d) 12

How many external sources of
recrvitment are there ?

(@ 13 ' b) 12

© 1 d 10

Why there is need of selection in a
company ?

(a) Easy training

(b) Less expenses

(c) Development of institution

(d) Aboveall

When Environment Protection Act is

implemented ?
(a 1961 (b) 1986
© 1971 (d) 1985

Upto what age, the child is unable to
work in a factory ? o :
® 16
@ 21

Low 'voltage means :

(@) Less than 650 volts
(b) Less than 250 volts
(c) Lessthan33kV
(d) Less than 110 volts

The main function of Apprentices
Act, 1961 is

(a) Establishment of College

(b) To give employment

. (©) To provide technical training

(d) To provide amount of compgnsation
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28.

29.

30.

©(c) 1961 (d

2047
The rate of income tax above taxable
income of 10 lakhs is :
(@ 10% () 20%.
(© 30% (d 40%'

When Reserve Bank' of India is.

established :
(a) 1948 (b) 1951

1935

The maximum investment of plant &
machinery in small scale industries

is: _ '
@@ 7.51lakh (b)
©) 50 lakh @

10 lakh
100 lakh

Which one of the following is
characteristics of partnership ?
(@) Group of two or more than two
persons
(b) Registration of partnership is.
- - pot compulsory but optional

~ (c) Business for partnership . - is

essential
(d) All the above

In which year L.LC. is established ?

@ 1948 - (b) 1956

(c) 1947 (d)y 1961
Which one of the following element
- is essential for production ?

(a Men (b) - Material
(¢) Money - (d) Aboveall

Which one of the following is not a

step for setting up small scale
mdustry ?

(a) Selectlon of Indusn'y
(b) Preparation of Scheme
(c). Approval of Scheme
(d) Job Seeker

P.T.O.
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MANAGEMENT

PART-II

forerif wo A ) ' (frwan 5w 70
Time allowed : Three Hours] [Maximum Marks : 70

T (i) Hewwe qhEd d vy A 6 P dw gt 1
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii)  He% T & G I B AR O A 8T I |
Solve all parts of a question consecutively together.
(iii) HeF T B T8 7 G WS BT |
- Start each question on a fresh page.
(iv) T strreit & o g @ Reafer & st argams ot e & 4
Only English version is valid in case of difference in both the languages.

1. () e S g o SR P e s @ -
What is the main function of Mineral and Metal Trading Corporation of India ? -
(i) e dar = e < & w5y s Y 2 ,
What is the difference between fire insurance and accidental insurance ?
(iii) T T g H SRR S | ,
Explain difference between administration and leadership.
(iv) fowor & st @ R L2
What is the basic objective of concept of marketing ?
V) HFE HEnF T T & 9 o e |
Write two functions of Ministry of Human Resource Development. (2x5)
2. (i) SO % IR AN F HEeS H gawEd |
Explain significance of market survey of a product.

() FEVT H HT ST HE e wena 3 A e |
Write names of institutions which provide loans for industry. (6+6)

© | P.T.O.
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SRl o 2047
SRR T S % S T 5 avE SR | o
Describe the objectives and functions of International Standard Organisation.

ot Pramer ue Rrdaer woeet % wat @ aule SR |

Describe the functions of Pollution Prevention and Control Board. (6+6)

Tt (RIICO) FRT ST & U1 ¥ @V e Y Hopan ot aoemed |

. Explain the process of land allotment by RIICO for setting-up of an industry.

Y YT I FA ¥ IS T 4 T IR WAAOT Al SAE ¥ 2 T |
Why selection of product and market survey is necessary for setting-up a small
scale industry ? Explain. (6+6)

it 3 fordt wlte & weawT & Snee uT fewon ffad |

Write comments on the allottment of iron and steel for industries.

TR R A Tt ot Frrer et gfeventt i Rl =t foreae @ weeed |

Explain in detail the facilities and concessions given by government for small
scale industries. (6+6)

i e o P o e e e o o
Write main functions of National Bank for Agnculture and Rural Development.
fferer wftwan = aofe i |

Describe the process of tender. (6+6)

R afesik % e fafied |

Write the objectives of project report,

IO & SO : 9000 Foit & & T o € 7

What are the advantages of becoming an ISO : 9000 company for an industry ? (6+6)

mﬁaﬁw‘rmwmwﬁaﬁﬁl

Write short note on public sector unit.
a7 wyeT Prarer g& P afufam, 1981 = e |
Explain Air Pollution Prevention and Control Act, 1981. - (6+6)
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